Expansion of single brackets

-3%%y (2x - 3y)

The term outside the bracket will be multiplied all the terms which are inside the
brackets. Here two terms are inside the brackets so we will get two terms after

multlpllcatlon

-3x3 %/ (2x - 3y) Here both term will be mulhphed by -3x> y)
- 6x°y + 9x°y° 3xyX2x—-6xyand -3x%y X - 3y = + O4yP)

1) Expand the single brackets.

a) X (3x+4)

c) 3xy(x+2y)

e)  4xy(x*+3y)

g 3xy*(x+2y)

i) 3y (xP+y?)

Expand and simplify
2)  3(2x=1)-2(x+1)

4) 2(8a-2)-(a-2)

6)  7(4x—1)-2(2x+ 1)

8)  2x (3x+y) + 3(3x+y)

10)  3p(5p + 3q) -2(5p +3q)

b) Ix(x+3y)

d)  13y3(x+y)

f) 4xy(3x2 -2y)

h)  5p%2p-5q)

) 5x*yE(x+5y)

3 5@By-1)-3(y+2)

5) 2(3p+5)-7(2p +5)

7) 3(5x — 3y) - 4(3x + 2y)

9) X(2x + 3y) — x (5x — 2y)

11) x(x + 3) + 2(x + 3)
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